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apply(pf, zero eq zero);
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//@require y >= 8;

{
it (v == 08) return 1;
return POW(x, y-1)*x;
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//@require y >= 0;

{
. Ly O] return 1;
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//@require y >= 0;
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L Phdint x, int v)

//Q@require y >= B;

{
. Ly O] return 1;
return POW(x, y-1)*x;
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bool is inCint x intl] A int lo gt )

{
if (lo == hi) retlrn False
return Allo] == x || 1s e | 1w & 1

;

//Breguire 8 <= 1o &% 1o <= hi &% hi < Lefifthics

i)
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{

§

L Phdint x, int v)
//Q@require y >= B;

. Ly O] return 1;
return POW(x, y-1)*x;

bool 1s inlint x intl[] A int 1o, ind li
//Breguire 8 <= 1o &% 1o <= hi &% hi < Lefifthics
{
if (lo == hi) retlrn False
return Allo] == x || is 1ntc & 1o = 1 i
;

O,

O,

® 182 0] LA Python X1
M BYEH

 AE 5 5%
7ol tEH

baol le seq(int x, intl] A, int 1o, int B1
//@require ..

{

1f (lo == i) rebilen frle:
return x <= A[lo] && le seg(x, A, 1p & & [Bi1 i

;
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gL OWOInt x, int v)

//Q@require y >= B;

{
. Ly O] return 1;
return POW(x, y-1)*x;

§

o [ ABZ5%5
o IEIEA

® 182 0] LA Python X
MBI EA

Q0] E ;MR EL?

bool 1s inlint x intl[] A int 1o, ind li

{
if (lo == hi) retlrn False

//Breguire 8 <= 1o &% 1o <= hi &% hi < Lefifthics

return Allo] == x || is 1ntc & 1o = 1 i

110

5
bool le seg(int x, intl] A int lo, it 4
//@require ..
{
1f (lo == i) rebilen frle:
return x <= Allo] %& le seglx, A, 1o ¢ 1
5
bool 1s sortedCinti]l A int lo  ip: hi)
//@require ..
{

it (lo == hi} rebiicn [rue:

return le seg(Allo], A, lo + 1, hi) && is sorted(h, 1o =

;

hi )
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A R e
L) 13 e

loc~>data /R —ERETE, HP G Bl * £ ~&5H B U AR

—PHBIE loc, FEMEEIZLHE N data H ¥ = 8]

heap_prop is_segment(list™ start, list* end, int[] A, int lo, int hi)
//Brequire B <= 1o && lo <= hi && hi <= \length(A);
{
if (start == NULL) return false /\ empty;
1f (o —= 1] retuen (Start — end) /\ enpty;
o Blrn (start-—>data == Allal) [\
Gebarl o sEarb) ¢
1S senmentistact >next, end, 4. 1o ¢+ 1. hi):
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g B G

D) ey
loc~>data FZka—RETE, EO R E Bl * £ ~E5HFHLMHEARERT

— Bk loc, #E[EEIENTE N data A M 2 (8]

4+ D N
DS AE AL o) orop is_segent(List* start, List* end, int[] A, int lo, int hi)
118 35 g/@requwe B <= 10 8& 1o <= hi & hi <= \length(A):

1f (start == NULL) return false /\ empty;
1f (o —= 1] retuen (Start — end) /\ enpty;
o Blrn (start-—>data == Allal) [\
Gebarl o sEarb) ¢
1S senmentistact >next, end, 4. 1o ¢+ 1. hi):
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DEIEEE . & TR

g B G

D) ey
loc~>data FZka—RETE, EO R E Bl * £ ~E5HFHLMHEARERT

— Bk loc, #E[EEIENTE N data A M 2 (8]

- D SN
EElJZ_ISi'E_Elé)ﬁ heap_prop is_segment(list® start, list* end, int[] A, int lo, int hi)
E@]i%?ifﬂ é/@requ1re B <= 10 % lo <= hi & hi <= \length(A);

i -kart —— NULL) return false [\ empty: start élJ end :}%J\ZET_/‘\i
if (lo == hi) return (start == end) /\ empty; \ o9 A :
e bl (stapt—data == Allal]) /) %ﬁ%% ) ;E\_-V\]ﬁj\j A[]_O : hl)

Gebarl o sEarb) ¢
1S senmentistact >next, end, 4. 1o ¢+ 1. hi):
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velg list revilist” 1)

//Bparameter int[] A;

' llrequire s segment(l, NULL, & 8. \length(h)):

//Bensure is_segment(1l, NULL, rev(A, \length(A)), 8, \length(A));
{

o

kSN

Z3



SEEBE: BRSBTS

el sk rayllist: 1)
//Bparameter int[] A;

/ (Breguire is segment(l, NULL, A, 8, \length(A)):
//Bensure is_segment(1l, NULL, Jrev(A, \length(A))} 6, \length(A));

{

5 BB
FOSH B
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SEEBE: BRSBTS

velg list revilist” 1)
//Bparameter int[] A;

/ (Breguire is segment(l, NULL, A, 8, \length(A)):

//Bensure is_segment(1l, NULL, Jrev(A, \length(A))} 6, \length(A));
{
} R INE B
inkl ] reviintl] A dnt n) A7 E‘qi)ﬂ/i

(reguire n = \length(h):
/[ /Bensure n —= \length@result);
i

kSN

intl L B = alloc arpayiint N

fopE (dnt 1 =8 1 < 1 4
Bl = Allg - 1 1]

;

return B;

;

Z3
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el sk rayllist: 1)
//Bparameter int[] A;

 lllreolipe 1s segment(l. NULL, A, 9. \length(A)):
//Bensure is_segment(1l, NULL, Jrev(A, \length(A))} 6, \length(A));

{

7 RBNEH
ikl reviaint] | A, int n) AT TR

(/lreglire n == \length(A);
//@ensure n == \length(\result);

kSN

{
anel B = alloc Apraylint, n:
for (apt 1 - B 1 < 0 L)
e MY RE T EF C NASTEIR
return B;

;
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2L PUNCint x, int v)
//@require y >= 0;
i

.y = 8) return 1:
return POW(x, y-1)*x;
;
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ERANZ 5 UEEA

BT AR

1At POWCint x,

int y)

//Brequire y >= 8;

|

if (y == 8) return 1;
9 y—1)*X;

return POW(x
}

y::

y>0

§ ==

24

> POWCe ¥ ==

==> POW(x,y)==POW(x,y-1)*x
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UEBRET, A ]HE

T AER?

it revtintl] A, int n)
ieglite n == \length(A):
liccuie n — \length(iresult):
i

gl B = glloc arraylint, n);

E Al = B o< 1 bE)
Bl =iln -1 -1];

)

return B;

;
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FUEBREY, IAIFERRTA

anGl | rgv(lnt[] A int il
//@require n == \length(A); rev(A, n) == rev looplA, array(m) i
liccuie n — \length(iresult): : i .
$ ;
| _ , | i< ==>
1nt[].B —.a}loc_grray(lgt, ) hvdoeeth a0
R 20 D<) rev_loop(A, put(B,i,get(A,n-1-i)), n, i + 1)
B[i:l - A[n - 1 . j_:l; = p ? p ? 7g ? ? ?
ieturn B; E =
} ? ey dooplh B i i) == B
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ERANZ 5 UEEA

gt "ONCInt x. Int yv)
//Q@require y >= B;

{ Vo= == PURCR N ©
if 0/ — B return 1; y>8 ==> POW(x,y)==POW(X 35 11
peturn POW(x. v-1)7x;
)
it revlintl] A, int n)
lipeauire n == \length(A);
[[Bensure n == \length(\result); no== len(A) ==>
i rev(A, n) == rev loop(A, arrayin) n &
inEl [ B = alloc array(int, n); i<n =
B DL B0 <o) rev loep(h, Bun 1
g il 1 11 rev_loop(A, put(B,i,get(A,n-1-1)), n, i + 1)
) 1 ==n ==>
; return B; pev. looplh B . n 1] B
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ERANZ 5 UEEA

gk FOWCint x, int v)
//Q@require y >= 0;

{

i =8 returnm |:
peturn BOWOx, yv-1)7x;
)

gt rev(iptl | A, int n)
//@require n == \length(A);
=g e b — ‘length(iresult);
i

inl B = dlloc arpray(int. n);

BTt 1 - B <o 1 )
Il i hlin - 1= 1]

5

return B;

;

Vo= == PURCR N ©
v>0  ==> POW(x v )==POWICe el i

o] AR KX T AL R &0R e I F TV

SR AT M4 B BYIIEBR

N

—— TenCh ) —
rev(A. n) == rev looplA. srrayin) | &

o< B =

rey. loop(A. B .n 1) ==
rev._loop(A, put(B,i,getlA.n | 1)), 0 1

i == 0N et ol o

ey looplh- B i 1) — B
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e POW(int x 1Int v)
//Q@require y >= 0;
{

s v == B return 1;
i PONCe. v 1) 7

;

§ 8 POW(x,y)==
g POWO v )=—POW(x .y 1)"x

ERANZ 5 UEEA

2




ERANZ 5 UEEA

e PANCInt x 1nt yv)
//Q@require y >= 0;
|

s v == B return 1;
i PONCe. v 1) 7

;

§ 8 POW(x,y)==
g POWO v )=—POW(x .y 1)"x

thm POW rculel(int ¥ int /1
//@prove y == 8 ==> POW(x,y)==1;

thm POW rule2(ant x. Int v
{/Bprove vy > B ==> POW(x v)==POWx /| 1& @

2




ERAN )5 IEER
thm POW rulel(int x  int V)

int POW(int x, int y) //8prove y = © == TNk 49

. -
é/@reC”1re ¥ thm POW_rule2(int x, int y):
{/Bprove vy > B ==> POW(x v)==POWx /| 1& @

s v == B return 1;

K
} return POW(x, y=1)"x; thm POW_x_one_is_x(int x)
prove POWGCC 1) = ¢
{
thm 11 = POW rule2Ce |
8 - POW(x,y)== /] 11: |- POW(x,1)==POW(x,1-1)*x:
v>0  ==> POW(x,y)==POW(x,y-1)*x thm 12 = POW rulel(x 0¢
JL12: |- POWIx B)er1:
thm 13 = trapsil] 127
[ 13 | POW(Ce 1)==1"%
Fettirn 13
;
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